

ELECTION COMMISSION OF INDIA

Register for Maintenance of Day to Day Accounts by

Contesting Candidates

Part A

Name of the Candidate: Gred Aco Yahinga Poilal
Name of the Political Party (if any):
Constituency from which Contested: 57 - Mushagagan
Date of Declaration of Result: 03-/2-2023
Name and address of Election Agent: ZAFAR RAIG 7674923836
Total Expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1	2			3	4
Date of Expenditure /	Nature of Exp	enditure		Total Amount in Rupees	Name & Address of Payer
Event)	Description	Quantity	Rate per Unit	(Paid + Outstanding)	
9-11-23	Momination			10000/-	R.O S7 Musheuched
9-11-23	petrol	5 mente	100	500	Hip petrol paid by cosh
9-11-23	hunch	5	80	400	
10-11-23	NIL				
11-11-23	NLL	-	_	-	
12-11-23	NIC	_	-	_	
13-11-23	Lunch	4	120		
14-11-23	~11	_	_	-	
15-11-23	Tea & Sweeks	6mers	90	90	
16-11-23	party office			15000	Mohd Ayub Qureshi
17-11-23	Style Pailor	5	350	1750	Style Tailor
18-11-23	Flex brone	20×10	1	14600	7
		lox5	5	25000	Hisign digitals
		10×3	1	4580	
	Firing Service			3900	
18-11-23	Petro (2000	A.P Auto Seevice
18-11-23	Tea & Snacks	5 person	150	150	
	weter bottle	3	20	60	
19-11-23	Petrol		109.65	566	AP Anto Securicas
				78516	

6 7 Amount Amount incurred/authorised by Amount incurred/authorised by incurred/authorised by Candidate or his election individual/association/body/any political party and name Remarks, if any Agent of political party other (mention full Name & Address 17/11/23 2767 18/11/27 Perient Revent

الموالل

	2			3	4	
Date of	Nature of Exp	enditure		Total Amount in Rupees	Name & Address of Pay	
Expenditure / Event)	Description	Quantity Rate per Unit		(Paid + Outstanding)		
20-11-23	Brangast Brangast	Krasy		1060	Soliwoor resturant	
20.11-23	Ten & Shairs	enaly		20.0	Zar Zari Zar Rushk	
20.11-23	Winch	15 ment	100	1500	I bhaoin presturant	
20-11-23	Style taslor	5 Revols	Soo	2500	Style tailor	
21.1123	Styk taller	Sskirts	350	1750	8-tyle tailor	
21.11.23	Prints Pamplets	3000	1.5	usoo	ms flex	
21-11-23	UM BirManiHous	2	100	200	4M Biogan house	
21.11.23	universal fragais	2	230	460	Universal	
21-11-23	Petrol Indianoil	١	ilo	160	Indian oil pump	
21.11.23	Chierden	3.		330	reglaciant Chicken.	
22.11.23	Petro (car)	20.06	109.65	2200	Bhosat petro Leium.	
22.11.23	Her print	(8,000	b 2	20,000	Hi Stan digitals.	
22.11.23	Stickers	12100	15	16,000	ti sign digitals.	
23.11.23	lurch	2 montey	·	627	paradice food Gurt.	
13.11.23	wooder bothle we	2	230	460	Universal Enterprises	
23.11.23	Trafsnocks	loneda	~	330	Zat Zati Zat Bushk	
23.11.23	lunch	1 Swents	60	900	Al Johnsim Lotel	
				55127 +	Arsi6 = 133 643/	

6 7 9 Amount incurred/authorised by Amount Amount incurred/authorised by incurred/authorised by individual/association/body/any Remarks, if any Candidate or his election political party and name other (mention full Name & Agent of political party Address 3985 3946 NIA NIX 159 4487 31 2768 2768 9802 162

Wild

				3	4
1	Nature of E	nenditure		Total Amount in Rupees	Name & Address of Payer
Date of Expenditure /	Nature of Ex	_	Rate per	(Paid +	7. May 17. May
Event)	Description	Quantity	Unit	Outstanding)	130
24-11-23	lineh	Surceta	160	5000	diam't
24-11-23	DINNE	5. 1-01	محا	5000	Spoker -
25.11-23	Food			Souro	
25.11.23	Duen	_	-	5000	
25.11.23	pediol			611.90	Sudheen Huhry storing
25.11.23	10169			2200	Suther Hilling Station
26.11.23	live h			5000	
26.11-23	DIMNER			5000	
22.11.23	lunch			5000	
27.11-23	DILAM.			5000\$	
78-11-2}	lunch			5000	
26.11.23	Dunes			5000	
29-11-23	NIL	_	_	_	
			TON	52812	
		7			

_	5	6	7	8	9
(8)	ill No. / pucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by political party and name of political party	Amount incurred/authorised by other individual/association/body/any other (mention full Name & Address	Remarks, if any
6	197				
	024				
	263				
	76				
	021115				
	P111 (0				
	119				
	089				
	02				
	24				
	124				
	77-				
	3rd Fr	spection Complete	led		
	Poted &	spection Completes	1 29-11-2023		
	for go	1,05 1-1		100 m	
		29/11/202>	Asst. Expanditure of	27111	
			-		
					/
				(Care	



ELECTION COMMISSION OF INDIA

Cash Register for Maintenance of Day to Day Accounts by **Contesting Candidates**

Part B

Name of the Candidate: >ソチト	ALI YAHYA	BILAL
Name of the Political Party (if any):	NAVE RAND	CONGRESS PARTY
Constituency from which Contested:	57- NWS	genadora

Name and address of Election Agent: Mil224

Date of Declaration of Result:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

	RECEIPT	PAYMENTS			
Date	Name & address of person/party/association/body /any other from whom the	Receipt No	Amount	Bill No./Voucher No. and Date	Name of Payee & Address
	amount received.	3	4	5	6
1	2				
	Ni				
	741				
		-			
_		-			
_					
_					
_					

Goodfile	PAYMEN	rs	Balance Amount	Remarks if any
	Nature of Expenditure	Amount	Places at which or person with whom the balance is kept (if cash is kept at more than one place/persons, mention name and address available.)	Any expense mentioned in colomn 7 of this table and not mentioned in colomn 2 of table of Part A should be darified here.
	7	8	9	10
	• 0	<i>S</i>		



ELECTION COMMISSION OF INDIA

Bank Register for Maintenance of Day to Day Accounts by **Contesting Candidates**

*

Part C

Name of the Bank

Branch Address.

Account No.

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

		DEPOSITS							Remarks if any
Date	Name & address of Person/party/association/body /any other from whom the amount received / deposited in bank	Cash / Cheque No., Bank Name & Branch	Amount	Cheque No.	PAYMENTS Name of Payee	PAYMENT:	Amount	Balance	Any expense mentioned in colomn 7 of th table and not mentioned in colomn 2 of tal of Part A should be clarified here.
1	2	3	4		- Тауее	Nature of Expenditure	74		10
. 2			-	5	6	7	8	9	- 10
11-23	cash	lio	900						
11-25	cough hope		1000						
-11-25	cash hips deposit can self		30000						
						+			
						_			
		+							Cula